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Arrange the following in the chronological
order.

1. August Offer

2. Poona Pact -

3. Third Round Table Conference
Choose the right code.

1.

(A) 1-2-3
. (C) 2-3-1 D) 1-3-2
2. Value of cos?30°+ sin®45°— % tan260° is
(A) 0 B).1
3. The present day Haryana came under the
control of British rule in the year
(B) 1777
(C) 1600 (D) 1781

4. Highly reactive metal amoﬁg the following
(A) Lead (B) Iron
(C) Copper

5. Which of the following does not constitute
under Balance of Payment List ?
‘(A) Budget estimation of external
borrowing
(B) Transaction between India and foreign
countries
(C) Transaction between Indla and IMF &
World Bank
\J.(D rants given to Union Territories

6. Considerthe following statements regarding

nuclear minerals and.nuclear power-

" stations.

1. In Rajasthan and Jharkhand we have
large deposits of Uranium minerals.
Kerala has large deposit of Thorium
material.

As of today Orissa State has no
nuclear power station,

Which of the following is not correct ?

(A) 1 only (B) 2onl

\ (C) 3only

2.

3.

' J5.

0 R 0

Wﬁnﬁ@aﬁm@aml
1. T T .

2. AT GEE
3. ‘cj?ﬁu'ﬁaﬁaatﬁa'—r
TR FE A |
£(A) 1 -2-3
(C) 2-3~1

-

1.

(B) 3-2-1
(D) 1-3-2

€052 30°+ sin? 45°—
(A) 0 ® 1
«©) Y% o b

7791 51 BT farfe e o fee | 9y
! T |

-(A) 1803 (B) 1777
(C) 1600 . (D) 1781
Frefafaa § 3= srffearEie org
(A) = (B) &Il
(C) e ~(D) ST
frfafad § @ SH-91 o SgeH g &
et =€l oAmar ?
- (A) TR 0T T ST FTAH
(B) TR R e 3 sfer ot
(C) wRd 3 IMF 3R faga &= & &=
3T
4 (0) ¥ et R argem
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1. TS 3R s R wfie H 9
TSR |

T ofife e e |

I Y TG T e usy # B

Fefofea % & S-m a2 7
(A) aﬁ@” (B) %ﬁaz

-% tan?60° 1 7H 2

De.
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7. ~Regarding food, Haryana is called as

(B) Land of thorns
" (C) Land of smiles @Y Land of rotis

(A) Land of roses

8. Which is the smallest district of Haryana ?
(A) Hissar "\ BT Faridabad

(C) Sonipat (D) Biwani

Find the number which is not like the other
3 numbers.
(A) 12336
(C) 12556

(B) 12448

BT 12672

Seven times a given two digit number is
equal to four times the number obtained by
interchanging the digits and the difference
of the digits is 3. Then the number is

VAT 36,
(B) 25
(C) 14
(D) none of these

10.

11. A Commission for the Re-organisation of

States, according to language and culture |
was set-up by the Indian Government, in
the year 1953, under the Chairmanship of

! Syed Fazal Ali *
(B) Mahatma Gandhi
(C) Jawaharlal Nehru
(D) Subhashchandra Bose

12. Inthe midst of a debate on Decriminalization

of Politics running across political party, one

of the earlier measures to stop unethical

political affairs the Anti-Defection Law was

brought through

(A) 90" Constitutional Amendment

(B) 91¢ Constitutional Amendment

(C) 51¢ Constitutional Amendment
\ABT™52% Constitutional Amendment

78

D e.

,4 10.

,411.

Dz.
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TR F g, A s
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(A) TEmE A A (B) Fied

(C) TEHi e qfir (D) Telel A |
Fr-g1 e % ged B [ ?

(A) fear -(B) WG

(C) @riad (D)

T T F B S I 3 TR e e B |
(A) 12336 (B) 12448

(C) 12556

T 31 37 1 G I T U 36k 3Hehl BT
Ty aREfdd FT T TS G 1 = B

3 3T} o1 A 3 & | A G B
(B) 25

(C) 14

(D) AR TE
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13. Which of the following movements that made

M

4.

15.

16.

17

18.

AT -8

Gandhiji, a truly National leader ?
(A) Kheda Satyagraha
(B) Non-co-operation Movement

(€]~ Rowlatt Satyagraha

(D) None of the above

If — 3 is the zero of the polynomial
f(x) =2x2 — (a + 1) x + 4a then value of a is

B) 0
© %
The values of x and y satisfying the

equations 2(ax — by) + a + 4b = 0 and
2(bx +ay) + b—4a =0are

(€) 1

) x=2,y=7/2 Wx=—-12~,y=2

C) x=34,y=9 (D) x=1,y=1

An object 5 cm in length is placed at a
distance 20 cm infront of convex mirror of
radius of curvature 30 cm. The position of
the image is at

\ AT 8.6 cm behind the mirror
(B) 8.6 cm infront of the mirror
(C) 6.67 cm behind the mirror
(D) 6.67 cm infront of the mirror

Shawl made up of embroidery work is called

as :
(A) Kashmiri Shawl\,éb’réagh
(C) Pashmina (D) Doshalla

Number of functional items or administrative
powers given to Municipalities under 12"
Schedule of the Constitution is
(A) 29 (B) 28

Wer™18 (D) 19

A O

[ 1s. Wﬁﬁﬁmaﬁﬂﬂﬁ?ﬂ*ﬁaﬁm
g e S ¢

(D) T IS Tl

/4 14. afe — 3 IgIEH f(x) = 2)(2 (@a+1)x+4a
e S 2 Al a T A B

®

(C) 1 (D) /

FHfiFwi 2(ax — by) + a + 4b = 0 3R
2(bx + ay) + b — 4a = 0 T T F T x

:ﬂal'(ya-?nﬂ%

(A) x= Zy—/
b (D) x=1,y=1

C) x=%.y-

e 58, 1. TS shl ag 30 |, 41, Fhan B
STt Il SU01 o W 20 .Y, Y g
givfofemamsam_ wR)

() <% 8.6 9.4, 4o |
<(B) U 8.6 ®. 1. Tr

C) T F .67 H. . D

(D) T9vI s 6.67 H. 41, am

N mﬁﬁmww %EII?IT%I

(C) Wtﬁm (D) E\PWHET

C18. BT o areeett argeeht s st e

A1 T3 T e e o e wf
wNEem @,

A1 8 "(B) 28

©) 19

D
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19. _ Mr. P started walking towards South, After
walking 15 metres he turned to the left and
walked 15 metres. He again turned to his
left and walked 15 metres. How far is he
from his starting point ?

AT 15 metres (B) 30 metres
(C) 45 metres (D) none of these

20. In AABC, AB =7 cm, AC = 13 ¢cm and
BC =230 cmthen |Bis

(A) 120° ~ (B) 60°

\Ier” 90° (D) 45°

21. Complete the analogy.
Geometry: Euclid: : Co-ordinate Geometry: ? '
V(A)" Rene Descartes -
(B) Euler
(C) Cantor
(D) Newton _
22. Bleaching powder is
~ -~ (A) CaOCI A8 CaOCl,
~ (C) CaO,Cl (D) CaO,Cl,
23. Several Ganas used to make a
(A) Mandal (B) District
Sangha (D) Hobali

24. Which of the following cities is famously
called ‘ Scotland of India’ ? 1
(A) Shimla
Kodagu (Coorg)
(C) Ooty
(D) Darjeeling

25. InOctober 1907, A State Level Conference

was held by Lala Lajpat Rai and was called
" as
(A) Quitindia ~
(B) Azad Hind
T~ Swadeshi Andolan

4/2018 (1) (E17)
4 19. #f PafEm A st = ® & | 15 Her wem
%918 @ A gea § of 15 Mot wen & | i
3R a7 gEeht 15 et werd § | 98 aimifi

fog & e g d 7
FA) 15 (B) 30 HiX
(C) 45 (D) T & s 7

(20. AABCH, AB =781, AC=138.1. 3R
BC =230 &.11. 4t [B &

(A) 120° (B) 60°
"!o(C) 90", (D) 45°
21, gwEyal i &1 |
=fafa , : e =mfifa ;7
e e
+(B) I
(C) e
(D) =LA »
22, sefifem uset
(A) CaOCI
(C) Ca0Cl . 5) CaO,Cl,
(23 % fovu siga ol wh S AR E
-(A) T (B) forem
(D) Bt

2 24. Trfofaa o & frg Tt “ama s wwieeie”
HET TR 7

(A

B (i

+(C)

(D) rfeifem

25, 3TN 1907 H, T ASId T I U TS
w0 getes e fomn e o, @
R

(A) W@ It

B) INE &

(C) w=euht

(D) Sathyagraha

D) Hoamre
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26. Find the missing letters (?) from the options
for BF, JN, RV, ZD, HL, ?
AT PT (B) LP
(C) GK (D) QU
27. li3x—4y+5=0and6x-8y +k=0|C
rkepresent the same line then the value of
is
(A) 5 (B) 15
WweT 10 (D). none of these
28. Home Rule League Agitation was started by

(A) Vivekananda
(B) Sister Nivedita
(C) M.K. Gandhi

BT Annie Besant

If 21% of July was Saturday then 4" July was
of the same year was

v(‘ﬂr Wednesday  (B) Thursday
(C) Saturday (D) Tuesday

29,

30. The Andaman and Nlcobar is separated
by
10° channel
(C) 6° channel

(B) 8° channel
(D) 12° channel

31. Thedistance between the points (a+b,a—b)

and (a—b,a+b) are
(A) O

\V1C) V8b

32. The age of a father is equal to the sum of
the ages of his 5 children. After 15 years,

(B) a+b
(D) none of these

the sum of the ages of the children will be
twice the age of the father. Find the age of

the father. R
KBT 45 years

(A) 40 years
(C) 48 years (D) 50 years

Y52y 2
m rs
. onTv com

(AR IlllllllHllIIl!Mllil i

Joiy 13 RN T

]
/] 26. ‘BF, JN, RV, ZD, HL, ?

%@ﬁmﬁﬁrﬁaﬁm '?)srmaﬁ1
Ay _PT B LP
(C) GK (D) Qu

o7, aft 3x— 4y +5=0 3 6x—By +k=0Fm
YT g &, A kFARE

(A) 5 ® 15
(D) T A FLE T
s neadmRed ___ SgERImE |,
(A) e y
(B) foreex frafea
(C) .. T
J0O) |
20, uft 21 g wifvar o1 1 36 o 4 FARH
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- C) SR (D) WieER
430, siene S B TogeFEl
(A) 10°%@]|  (B) & X
(C) 6° = (D) 12°3Fd u
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(A) 0 (B) a+b
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33. Which State in the following lies to the east
of Haryana ?
(A) Rajasthan
V(B)’ Uttar Pradesh
(C) Himachal Pradesh
(D) Punjab
34. Three cubes each of the side 1.5 cm are
2 joined end to end, the surface area of |
m{; <) resulting solid is
» (A) 29.75cm?  \4BJ 31.5 cm?
7218 (C) 30.25cm? (D) 32cm?
35. Which of the following form an AP ?
(&) 1.1,2,2,8,8,.. 1
(B) .0.3, 0.33, 0.333,...
(©) +2,2,2/2,4,..
MD‘}"Z,7+J§,7+2J§,7+3JE,...
36. If ‘+’ means x, ‘" means ‘+’, x’ means -’
+ and ‘+’ means ‘+’ then 10+4x25-5+8 =
i (A) 48 ' (B) 53
Y
lox4-=7(c) a5 \s40) none of these

lp-r”' e Y3 H})
37. The famous actress Juhi Chawla is from

. district of Haryana.
(A) Pinjore (B) Rohtak
(C) Sonnet DT Ambala
38. The High Court building of Chandigarh was
designed by '

(A) Edwin Lutyens
HBrLe Corbusier

(C) Laurie Baker

(D) Cornwallies

~

4/2018 (1) (E17)
¢ 33, Freeitad & @ s e gfemn & g o
27
(A) TS
(C) TewTHc Ha
(D) TS
[ 34. R 1.5, TR 3 S 1 ST TR gt
A e T 2, ot 3 1 IS &R ©
(A) 29.75cm? ;-
(C) 30.25 cm? (D) 32 cm?

. Tt B & -1 Tk TR Sof S 7
A) 1,1,2,2,3,3,.
(B) 0.3,0.33,0.333,...
(C) +2,2,242,4,..
(D) 7,7++2,7+242,7+342,..

D35

. AR T W R, =AY e, kT 3L
AT Y A 104+4x25-548 =
(A) 48 (B) 53

© 3 ©) wH o

. SR T e

- A

() fisi (B) Uga®
(C) &
I¢IE I=9 A F ARG F1 fEemsa
Y EmEm |

- (A) e gk

(B) i

(C) &R =

D36

(D) ehiaTfeT™
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40.

41.

42.

43.

44.

AP

2 2
Area of the circle inscribed in a square of

side J2cmis

1.2 T 2
A) —cm (B) —=cm
A 3 7
© Zem? B Zom'
4 2

Archeological discoveries at
show that Haryana was a part of Mauryan
empire.
(A) Saranath (B) Cylone

\,@CT Sugh (D) Kurukshetra
Legislative Assembly of Haryana passes |
laws on the subject included in the
Schedule of the Constitution.

WAKT TN (B) 8"
(C) o (D) 10"
Who among the following named for the
‘most valuable player’ of Asian Games 2018
award ? 1
(A) Mary Kom MB‘)"Rikako lkee
(C) Bhajrang Punia (D) P.V.Sindhu
Fore brain is specialised for
(A) Hearing
(B) Smell

* (C) Sight

\ BT~ Walking in a straight line

Which of the following statement/s is/are
true with reference to cytoplasmic male

sterility ?

(A) Cytoplasmic male sterility is total or
partial male sterility in plants.

(B) This phenomenon has a wider
application in plant breeding.

\,(z)’ Both A and B are correct
(D) Both A and B are wrong

= RE e )

00 0O
D3'9, J2 g, 1. s % Th a1 ¥ Iehifvla ERED

g ©
(A) %cm
(©) g-cm
ca.
o i |HTSE T AT A |
. (A) R (B) H

(D) FEEH

1. <feon i RamE EfRaE R

g B vt ferwedt o S TR A R |
(C) 9" «(D) 10"
72 ufirr e 2018 TR ¥ R Rl ‘watfis
e Ry’ v fven T @ 2
€) vyt - (D) dA. fay
Das. cmufees _ Ffqcfawmg
(A) &
(B) wmor

(C
I(D) T el Y@ | wer ,

(44, FINERTEE T R sterar 3 ge i frefeiaa i
A HRA-TFUA TG L ?

(A) ¥R T serar reh 3 @ T
AT T eemar 2 |

- (B) ¥9 9ot ®1 qrey s # E
ST R |

I(C) Aaﬂtsiﬁq‘mﬁﬁl

(D) A 3R B 3T e &

-8-
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(B) It may also leads to a break-up of

union or confederacy into a many new
states

Both are correct
(D) None

47. Theunderconstruction Mumbai-Ahmedabad
bullet train project is funded by
(A) Germany (B) South Korea
Japan 7. (D) . France

e

48. Haryanawas formed onthe recommendation
of Parliamentary Committee.
W Sardar Hukum Singh
(B) Tara Singh
(C) Chotu Ram
(D) Chaudhary Devi Lal

a=4%"

(B) 3O THTHSFAT I HYaTE aga-d ¢

f’ri RETIE:

47, Fmiomefe HE- TEAEETE oie 3 TEsI
Fifeg_ swfrm W@
- (A) S (B) " =féor it

e @ B (D) %ig

Aas. wfEmom A TamET 0o

aﬁrﬁféﬁ@@mﬁu
[(A)_FER G
(B) @ fa=

(C) BlETH

(D) =erdi Tt AT

+ gudi

30 £

935
49. If ICE is coded as 17 then ‘TEA'is coded(f‘ 49. 3 ICE * L 17 A, @ ‘TEA’ 1 2 BN

as
(A) 18 (B) 19
\Jer 26 (D) 27

50. Which of the following Viceroy was |

associated with llbert Bill controversy ?
(A) Lord Curzon 4By Lord Ripon
(C) Lord Lytton (D) Lord Mayo

(A) 18 (B) 19

(D) 27

o1 7
(A) TE HeH (B) e frud
(C) =me fere (D) <rE T
.9- Vv
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45. Solutions of the equation Feferr 445 X2 +3x-25 =0 F =
_ -2J5=0F TR 3x
45 x? +3x-25 =0 are 4 ;g:’f
-2 5 2 5 "=
(A) V5,25 B) =~ ==
® 776 R i - R
2 5 ' 2 45 25
wer Ny (D) /5,45 C) ?-% (D) 5,45 ’ﬁz{
u-—-"l'j
46. Read the following statements about | 46. T@Hﬁﬁiﬁﬁiﬁﬁ Freforfiaa et o fomm =
nationalism and choose the right one. F1 3 Td ;ﬁ
I
(A) It may leads to a formation of new 3 TR Y Wi
states by consolidation or unification (A) e = b =
process T AT ST HHA &
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51. Find the missing number in the sequence,
8,4,12,6,18,9,7

(A) 20 (B) 25
et 27 (D) 30
52. Sultanpur Bird Sanctuary is located in
L&Y~ Gurugram (B) Sultanpur’
(C) Sonipat (D) Ambala

53. Below some fresh water bodies are given,
arrange them from larger to smallest
quantity of water in it and select the right
code. _

Ice-caps — Ground water — Rivers
(B) Rivers — Ice-caps — Ground water
(C) Ground water — Ice-caps — Rivers
(D) Rivers — Ground water — Ice-caps

54. Thanesar ruled by Harshavardhan a King ,4 54.

(51 :

ASZ

7453.

lIIIIII (O A
g@wﬂ 12,€ 9, Oﬁwmw
X |

A) 20 (B) 25

qu{ ﬁ@a% |
(B) T

(C) @rad (D).. SFeTTe

413 o @t aFh F S FEE fou 2, 32

aﬁﬁn%nﬁaﬂw@mﬁm@am

(B) T - :
(C) i - aﬂé‘v‘l—ﬁﬂ EEl
(D) N - it e - ST

was in the vicinity of’ _ At FEAT
\AAT Kurukshetra -7 (B) Ambala - - (A)_FREA | ¢ive.  (B) SR
(C) Biwani |, (D) Panchkula (C) ~ (D) TEgpel
g" 'quYI\
55. Haryanaisthe most populous £55- mﬂﬂ?{ b __,,EE‘Tﬁﬁa" SHEE
“State in India. AT R |
®) 16" er 17 <(A) 188 [® 17
(c) 16" (D) 14" (C) 15" D) 14"
56. The eleventh State Assembly election took [2 56. 11 d Tsa faum @ R:CIC] &
place during _ TR T | ¢
(A) 2013 BT 2014 (A) 2013 “m
(C) 2015 (D) 2016 (€) 2015 5676
57. By the 1930s, the Congress had accepted g 57. 1930 T HE I %aﬁntﬁﬁ LT & &9
that Hindustani ought to be the national # TR F R o) fgerh
language, Hindustani is a blend of frsror % |

(A) Sanskrit and Hindi

\&f" Hindi and Urdu

(C) Sanskrit and Urdu
© (D) Sanskrit, Hindi and Urdu
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58. 'On which of the following hill range is the
‘Doddabetta’ peak situated ?

Hﬁf Nilgiri hills

(B) Cardamom hills
(C) Annamalai hills
(D) Nallamala hills

59. Haryana State shares its boundary with
number of States.
(A) 5 (B) 6
AT 4 (D) 3

60. Name the fluid tissue similar to plasma
of blood but colourless and contains less
protein.

(A) Platelets

UCY Lymph

With reference to modern farming in India
consider the following statements.

1. Itled to green revolutionin agriculture
productions in 1950’s.

2. Itintroduced the High Yielding Varieties
(HYV) of wheat seeds only.

3. Farmers of Punjab, Haryana and
Western Uttar Pradesh were the first
to try out the modern farming method
in India.

(B) Dialysing fluid
(D) Pleural fluid

61.

HYV seeds, however, needed plenty
of water and also chemical fertilizers
and pesticides.

Which of the above are true 7
(A) 2,3and 4
(B) 1,2and 3

\4€T" 3and 4 only

(D) 2and 3 only

4/2018 (1) (E17)
4 8. Fefftaa # & fre v oft o dreagr
It fRr R ?
[t wmeat)

T8 ATt

- (B) 6
(D) 3

C60. 3T 39 T T A AT St T o THH g
TréH iR 3Ed i wE B @
(A) HeERH (GIREIHENES

(D) @ 7
CB1. WA # e By 6 gad # Frftad
Fo W famEm fhifsw |
1. 39! 9918 ¥ 1950 § FfY Icured o
EiashIfe & |
2. 304 g % <19 i 3= Scres fonedl &
EERESIER
3. g9, sf@mn ot uferedt 39 wew &
foreTi 3 T vt wd # snygfes iy
o alieh! w1 ST fRa |
4. HYV ISt =1 1l s@, ot
JaTeht 3 TRt it STERd B off |
IFAAIH-AI G R ?
(A) 2,334
. (B) 1,233
(C) ot 33 4
(D) Faa 233
«11=
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62. Boo Ali Shah Kalandar was a

LA Soofi Saint  (B) King
(C) Fighter (D) Soldier
63. Combination of Bagh and Phulkariis called p 63.
as
(A) Topi (B) Phag
(C) Loor @7 Chope
64. Find the word which is different from the | [(64.
other 3 options given below.
(A) Ramayana \ 4By~ Panchatantra
(C) Mahabharata (D) Upanishad
65. Theatre on Bikes is a project started by | 65.
(A) Satyaijith Ray
(B) Shyam Benega|
\,(Cr Manish Joshi Bismil
(D) Karna Prasad
66. If P(E)=0.73, then probability of ‘not E’ is D 66
(A) 0.3 (B) 0.27
(C) 0.25 \ BT 0.37
67. Yamuna river enters Haryana near 467.
forest.
AT Kalesar (B) Bandipur
(C) Gir (D) Satpura
68. Which of the following materials has lower 4 68.
resistivity ?
vﬁr Silver (B) Constantan
(©) Manganin (D) Glass -
\'/ -12

N AR

_ q\wﬁmwum_____—@“

E(A) m@& | wn

(©) = () &
mﬂaﬂtgﬁﬂﬂ?ﬂﬁﬁm_————m
21

(A) 2t (B) I

©) T/
qﬁ%ﬁqmaﬁaﬁﬁﬁﬁﬂwmﬁ |
@ T

(C) WETITE (D) IuFTE

. AR PE) =073, ET BN A il &

(A) 0.3 '(B) 0.27 ’, :O
(C) 0.25 rg%
7 7w & TAFTER
TAN FA B |
(A)_hicrer | (B) ST
©) . +(D) HagST
frafafaa # | forg werd Y daasfie
FAR?
'@ ®) FRE
T(C) - (D) W
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(C) have been hoping
’_- (D) had been hopina

to the bank manager yet ?
(A) Have you been writing
(B) Do you write

_'§(C) Have you written

- (D) Were you writing

[

Choose the alternative that is opposite in meaning
" tothe given word.

J) 1. Perilous . "
(A) Fine -(B) Delicate.
(C) Healthy \
{2 72. Plenary
(A) Mislead
Restricted

(C) Complete
(D) Mysterious

Use the appropriate modals to fill in the blanks.

Q 73. If you see him, give him my

regards.
(A) must

- (C) will

(D) would

4/2018 (1) (E17)
. Language
Gh:i::’: the correct form of the verbs from the given 4 74. You have written to him yesterday.
0 . E—
P ] A) oughtto
p s —k—-=—-..to GO out, but | had too much (B) dare
work. '
“(A) hoping .(C) will
~B) have hoped (D) need

Give single words for each of the following

expressions.

;4 75. Aircraft with two pairs of wings, one above

the other.

(B) Biography
(C) Biology
(D) Biopic

(" 76.

Incapable of méking mistakes or doing
wrong. s e

- (A) lliterate
(B) Infidel

v (C) Infallible

(D) Ineligible

A

Fill in the blanks with correct options.

D77. The battalion operating from the mountain

was able to
*A) tie with -(B) tieup -
“(C) tieon (D) tie down
C78. It's very kind of you to to speak
at the meeting.
(A) Divide *(B) Comply
© (C) Agree (D) Deny
13- \'/




4/2018 (1) (E17)

D O T 0

Tt e
a ' FEEER ?
A 1. 763 %] TEATH T & 85. ST + ¥ = ST,
(B) =g (A) Tt wfar (B EF:FI
0 I (D) T L w0 T
D 80. ‘wy v HEmadR-a e wd e e ? |/ se. e TR T 8 A A TR H R
(A) 39 (B) tr?&m __aa: -
mﬁamw, T
©) ¥ st %”%‘m" =
(81 ‘TEtIBTer gere A (B) =AfaET &, Jieer, Th o=,
(A) vasfid & T, ‘Tea & T @1
(B) T U1 THA HET (C) W I w4, IfE, T g=H, HH
[ (C) s A | T, ‘wear & T
(D) 3T e T (D) =afFaaras &9, WHiferT, T I,
/482 N Be wterTe, ‘Tt & e = i
| (=7) (=) 8. fopeft aeg o @l Ivg A qEET S @
1. Gl . 56 it a1 & wwTaT urs ST 8, @ Tl e -
2, B . 87 HAFR BT & 7
3. Tfw 2. 69 (A TR
_ 4. mﬂt><§ 35 (C) Iy (D) DI
|7 88. ‘“seare’ foRw @ T wE R 7
OB 1-F 2-F 8- 4- () Wi
.C)1-m 2-F 34 4-% .(C) T O
@1-% 2-% 3-9 4-= i 56 :
89, ‘BRI e T T =i warsy i faftaw |
/2 g3. frefrfag & @ ‘wf@’ 1 wigar W (A) TR T T T |
) TR (B) ¥R A T vt st |
“(A) & | PERL |
) D) 7 (D) BRATAR |
4 . frrforftas i & vl adft A Y || [0, T H A =T wsaﬁr-r—mm%?
(B) Wi “(A) T (B) 1=y
R (D) SR () gHife
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15.

16.

Candidates are wamed not fo carry handkerchlef, any mobile
phone, any type of watch, belt, wear ornaments like ring, chaln,
earring etc. electronic or communication device, Pen, Pencll,
Eraser, Sharpener and Correcting Fluid in the examination centre,
It any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Candidate

. found possessing mobile phone or any other aiding materia

as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.

{ . The written examination will be supervised by doing frisking

before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc,

. Candidate's request to change the examination centre and seat

in the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit
Card or attendance sheet will be tallied with the candidate -

appearing in the examination by the invigilator. In the event of any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sit in the
examination and be liable for criminal prosecution. A
13. The OMR answer sheet consists of three copies, the original
copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubblesin
- three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator'at the end of examination.
Invigilator will hand over the'candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them. \
Each question has four alternative answer of which only one is
correct. For each question, darken only one circle, which ever
you think is the correct answer on the OMR answer sheet with
only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle. If more
than one circle is found darkened, that answer will not be
- evaluated. ' !
No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination.

No candidate will be allowed to leave the OMR Answer sheet blank.
If any OMR Answer sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mentioning “Cancelled” on it.

The answer sheet wili be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the answer
sheet invalid.

. Carefully fill in all the necessary particulars on the answer sheet.
Change of answer sheet Is not permitted. }

. While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. If you darken more
than one clrcle, your answer will be treated as wrong and such
answer shall not be evaluated.

14.

9.

10.

11

12.

13.

ﬂmfﬂﬁ%ﬂﬁ?ﬂﬁﬂﬁﬁ%ﬁﬁﬂw,mﬁ?. e oft e
ﬁﬁﬂﬂ,ﬁﬂ,gﬁqﬂﬁ?ﬁmﬁﬂﬂﬁﬁ!ﬂﬁ,ﬁq,m, ﬁ-‘ﬂt,mm
foran gon firer % fore et v e - 4 @ il i € S,
A, 3 3 v <A garfin 4 foreh oft ST ST 9B | T g
¥ a7y Felt oft apemeff 1 qle-zfer 8 w781 R smem | alian -
& ster el s 3 T ARt e WA e @ A g fem
mmmma,wmaﬁﬁmmmmm
S afr when § I ek Froe @ 4 et aan v A

aﬁmmmaﬁﬁwﬁmﬁmsﬁmmﬁmmu
ﬁmwﬂmﬁsﬁﬁmﬁwm-iﬁﬁmﬁ%@m%mﬁmﬂa,
CCTV %, ardifys a9 @ shy 3 P SR Iafeafa s, Lo
it S she e T R e & A T T
1 e e S 3 T g T T 3 |

fien-3 & afed o whan-gier 3 de 3 wfadd % ged 7 B o
speeff <t sefn o e e e ST '
ez TI- an SuFeRy e i aveef] 3 @ R g
a1 vt Srvael] & fovan ST | avvaeff 9 IHE IS 6 WA 3
e 3 forct ot T i Rt e o o apard il § s
A syl el A S i SR S F 9 |

@ OMR Sw-us 1 i wfal &, o W, s s @ st
¥ | 5% T S | OMR Fwe-vs 1 i wfvdi & e =

., ST~ E I 7 L | Syearel Than T 8 T OMR IW-TH

14;

g A AT E ] e

it wfeeit = aver s i i &) ayaedf i
ey TlaTR BT SO S 376 2 AU ST | STTel] 3o Ty | e

el 7 5 e AT e R & R & B Tl 2 15
WY % I AU OMR I01-95 H el 39 Uk 7iTel 1 91 @ W e 8

. @ o wél s Ed € | 9w STOeR! IR FH IUErsy Y T
-

15.
16.
17,

18.

19.

Tt e 91w qA -0 B HET R T WA E R iR e
T R e 1 4f fort we % fore < it @ e R T @ 3w
TR H G 6] A |

vhen % wem iR siftwm W fire & S Rt off svamefl =) v
(cHacte /atrew) # A o el e e |

et srvanedl 1 OMR e -y e Gl it armiy 7 31 a2
F§ OMR W% @reft uré 78 71 wheiers 30 W wia o=@ 5
TSI, AT SEAIAR 3 S 3 I8 W o g 3 )

I il Wi AT T s & St | s A e
WA T I TR € Teha1 & |

mmﬁmwmwmt@fmm—mﬁw% | TH-V5F &
weea i s AE R | ' ' o
S 26 FE v /el =B O T ey e & e it /e @

|
afR 31T 0 & St Tl Y wen wd € o ok I R T WA
e 3 TR I Y T e

CORRECT METHOD/A# alish

WRONG METHODS/ *era wlidh

®@®00

OFO0 OROO G®00 GO0

20. Ifa candidate does not comply with the Instructions as mentloned

above or creates any kind of Indisclpline, the Commisslon shall
take action as per Instructions and In addition can also debar
the candidate from appearing In the Examination, 1o be held In
future and can also file criminal proceedings.

20,

uﬁﬂﬂiuwmmmmwmm!m .

tﬁmwmﬁwm TN X
wifere 3 &t s areh wignad F o 4fm
S wrRtaT w8 o 7 v

K ’ -16-
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